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In [1]: import matplotlib.pyplot as plt
import numpy as np
import pandas as pd
# LUEIDDTATZ YN [3FEDMIS

In [2]: Data=pd.read_csv("D:2022_#i¥2#fist=/StatData/StatData01_2.csv”) # FHmAHLI=WLVT 7 A ILD/NA

In [3]: Data # HARAFLT—2ZERD. T—XICEBEBMIZ. 0BFNSEFSADL,

Out[3]:

BEARIE (c_j) EEZ(F])
0 22 1
1 24 4
2 26 5
3 28 15
4 30 18
5 32 20
6 34 18
7 36 1
8 38 4
9 40 2
10 42 2

In [4]: # BAREILETZAMNELL
# DUOWTICHEBRGE#HSE X, f) ITLTLED
Data = Data.rename (columns={ BEfRIE (c_j )’ : 'x'}) # Data= £ 52 &L TEESTSINA.
Data = Data.rename(columns={ B #¢ (f_j )’ : 'f'}) # Data= LA L TLEEZENS.
Data. head ()

Out[4]:
x f
0 22 1
1 24 4
2 26 5
3 28 15



In [5]:

Out[5]:

In [6]:

Out[6]:

In [7]:

Out[7]:

In [8]:

Out[8]:

B 97 ANERHFLACERETHSLBZEELTE L TTHE

Data=pd. read_csv ("D:2022_ #iE#fi5t%/StatData/StatData01_2. csv”

skiprows=1,
names=[" x’

Data. head ()

1 24
2 26
3 28

15

18

D

§F—58 77 A LOBAOITERIET
NS LEEMTS

EBATRTHRIEEHET S

Data[’ xf' ]=Datal[ x’ ]J*Datal[ f’]
Data[' x"2f' ]=Data[ x’ ]**2xData[ f’]

Data

X f xf  x*2f

0 22 1 22 484
1 24 4 96 2304
2 26 5 130 3380
3 28 15 420 11760
4 30 18 540 16200
5 32 20 640 20480
6 34 18 612 20808
7 36 11 396 14256
8 38 4 152 5776
9 40 2 80 3200
10 42 2 84 3528

t &H5LOKF

Data. sum()

X 352
f 100
xf 3172
x"2f 102176
dtype: int64

size=Data[ f'].sum()

# 75 L Frequency (f) D#RFIDETE
sum_xf=Data[ xf’]. sum()

sum_xxf=Data[’ x"2f 1. sum()
size, sum_xf, sum_xxf

(100, 3172, 102176)

t mAHELIEWT7AILDIRR



In [9]:

Out[9]:

In [10]:

Out[10]:

In [11]:

OQut[11]:

In [12]:

Out[12]:

mean=sum_xf/size # FHEDFE
mean

31.72

var=sum_xxf/size-meanx*2 # HEARKIZKBETE

var

15. 601600000000076

std=np. sart (var) # DEDFEAHENZERE
std

3.949886074306457

tEED
StatSummary=pd. DataFrame ([

[ F9fE", mean],

[' /&%, np. round(var, 2)],

[ #Z#{F=", np.round(std, 2)],

[ T—5%, size]
D
StatSummary=StatSummary. rename (columns={0:
StatSummary=StatSummary. rename (columns={1:
StatSummary

HEtE M@

0 3 3172
1 B 15.60
2 RERE 3.95

3 F—%# 100.00
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In [13]1: # EXIS L

# plt. figure(figsize=(10,5))

plt.bar (Data[’ x' ], Datal f'I, #HBI57 (EEEMEOERERTE)
width=2, i HONE
color="violet’,
ec="k')

plt. xticks (np. arange (20, 46, 2))

plt. yticks (np. arange (0, 25, 5))

plt.show() # tHET—2%RTET. VS ITDHRT
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In[]:



